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150m

la = 100 m?

ZIAFZF o] Yol : 300 x 150 = 45000 m? = 450a
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D 0.001km? @ 10ha @ma
@ 100000m? ® 1000000cm?
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(2B o))
= 100m x 100m = 10000m?
10000m? = 100a = 1ha = 0.01km?
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D)0.9ha =] |m? @ 600m2 = |a
® 1.7t =[ Jkg @ 80000kg =[ |t
® 60ha=[ |a

® 1700
@ 80
® 6000
- @
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5.6 ha O 550000 m?
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5.6 ha = 56000 m? < 550000 cm?
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12m = 1200 cm, 7m25 cm = 725 cm
Blo] 1 1200 x 725 = 870000( cm?) = 87(m?)
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400cnt

> = m?

> = cm?

> He: 20m?

> HEHD 200000.cm?
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400cm = 4m ©]B2 4 x5 = 20(m

1m? = 10000 cm? °| 22
20m?2 = 200000 cm? Y YTt
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5.1km? = Dha = Da
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1km? = 100ha = 10000a = 1000000m?2
5.1km? = 510ha = 51000a
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510 4 51000 = 51510 ¥ T}.
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500000m2 = 5000a = _ |ha=[ |km?
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1km? = 100 ha = 10000a = 1000000 m?
500000 m? = 5000a = 50 ha = 0.5 km?
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1400
HE D o014
HED 2030000
HE D 20300
HED 203

1km? = 100 ha = 10000a = 1000000 m?2
(1) 14a = 1400 m? = 0.14 ha
(2) 20.3km? = 2030000 m2 = 20300a = 203 ha
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® 24a = 240m? @ 1300a = 1.3ha
@)skm? = 80000a @ 1.6km? = 1600a

® 47m2 =470a
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1km? = 100 ha = 10000 a = 1000000 m? ©] 22
D 24 a = 2400 m?

@ 1300a = 13 ha

@ 1.6km? = 16000 a

®47Tm? =047a
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O 25km? = 2500a @ 49a =490 ha
3@ 6800000 m? = 680 a @0.54 ha = 5400 m?

® 370a = 3.7m?

~&B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a =0.49ha

@ 6800000 m? = 68000 a

® 370a = 37000 m?
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D 330a=3.3ha ® 20ha = 0.2km?
@ 540000 m? = 54 ha @6.1 ha = 6100 m?

® 1.7km2 = 17000 a

@ 6.1 ha = 61000 m?2
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@ 24000m? = 2.4ha @ 150a = 1.5ha
@0.3 km? = 3ha @ 24000a = 2.4km?

® 3.6ha = 36000 m?

® 0.3km? = 30ha
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D 3.6ha = 360 m? @ 46a = 46000 m?
@240a = 0.024 km? @ 300m? =0.03a

® 8km? = 8000000 a
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@ 3.6 ha = 3600 m?
@ 46a = 4600 m2
@ 300m? = 3a

® 8km? = 80000 a
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha
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@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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@ 100 m? @) 10000a ® 0.1km?

@ 1ha ® 10m x 100 m

B
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@ 100 m?

@ 10000a = 1000000 m?

@ 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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D)0.3km? @ 0.3ha ® 300a

@ 3000m? ® 3ha

B
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@ 0.3km? = 30ha

® 300a = 3ha

@ 3000m? = 30a = 0.3ha




@ 0.75km? @ 100 m x 4000 cm
@)s0000a @ 25ha

® 100m x 3000 cm

~&B

T 22 @2 A A By}
@D 0.75km? = 75ha
@ 100m x 4000 cm = 4000 m? = 0.4 ha
@ 80000a = 800 ha
@ 25 ha
® 100 m x 3000 cm = 3000m? = 0.3ha
B>0>0D>20>0




20. THE FolA Helrt A 2 AL ol A U7

® 4m? @ 40cm? (3)40 m?2

@ 4000 cm? ® 40000 cm?
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3 400000 cm?
@ 4000 cm?
® 40000 cm?
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1060000 cm?

(15 x 8) — (7 x 2) = 120 — 14 = 106( m?2) = 1060000( cm?)
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800cm — 8m
5 X 8 = 40(m?)
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12 x 12 = 144(m?)
— 1440000( cm?)
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18 km?

0
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1800 ha
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180000.a

1km? = 100 ha = 10000a = 1000000 m?
3km x 6km = 18 km? 18km? = 1800 ha = 180000a
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_1800m . _

T--2600m-" "

0
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3080000 m?

308 ha

vV V.V V¥
0%
(L

0
o

3.08 km?

B
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= (1800 + 2600) x 1400 + 2 = 3080000 m?

1km? = 100 ha = 10000a = 1000000 m? ]2 &
3080000 m? = 30800a = 308 ha = 3.08 km? Y t}.




